Prepared by	DYS								
Solicitation N	No.:	CD-B-14-031	-MF	TIC	21	Pronto Sandblasting & Coating &			
			: CD-C-14-014-MF	ab, I	3222	batir	23	ding	
			O WATER SYSTEM	3eh8	410 s 78	Ö ö	.esa 782	opoc	969 78724
		P. O. BOX 24	49 O, TEXAS 78298-2449	8	exa	ng 8	T Y	National Power Rodding 9810 FM 969 Austin, Tx 78724	
		TABULATION OF BIDS		PM Construction & Rehab, LLC 3355 SE Loop 410 San Antonio, Texas 78222		to Sandblasting & Coati Oilfield Services Co, Inc 9456 South Presa San Antonio, Tx 78223		ional Powe 9810 FM Austin, Tx	
PROPOSAL:			ified Rehabilitation Contract - Sewer	ıruc	55 S toni	ldbi	56 S nto	al F	3810 stin
		•		onst	33.	Sar	94 P U	tior	o An
	Job No. 14		803	20 1	San	ng is	S S	Z	
TIME &		10:00 A.M.		PA		Pro			
DATE:	: June 24, 20		4						
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total
103.1	200	LF	Remove Concrete Curb (COSA Spec)	\$3.00	\$600.00	\$2.00	\$400.00	\$1.00	\$200.00
103.3	500	SF	Remove Sidewalks and Driveways (COSA Spec)	\$5.00	\$2,500.00	\$3.00	\$1,500.00	\$1.00	\$500.00
103.1	100	SF	Remove Miscellaneous Concrete (COSA Spec)	\$10.00	\$1,000.00	\$5.00	\$500.00	\$2.00	\$200.00
200.1	200	SY	Flexible Base (4" Compacted Depth, Type A)	\$25.00	\$5,000.00	\$8.00	\$1,600.00	\$39.00	\$7,800.00
200.1	100	SY	Flexible Base (6" Compacted Depth, Type A)	\$35.00	\$3,500.00	\$14.00	\$1,400.00	\$40.00	\$4,000.00
202.1	50	GAL	Prime Coat (COSA Spec)	\$17.00	\$850.00	\$10.00	\$500.00	\$17.00	\$850.00
203.1	20	GAL	Tack Coat (COSA Spec)	\$17.00	\$340.00	\$10.00	\$200.00	\$17.00	\$340.00
205.3	500	SY	Hot Mix Asphaltic Concrete Pavement, Type C (1.5" Compacted Depth) (COSA Spec)	\$50.00	\$25,000.00	\$40.00	\$20,000.00	\$64.00	\$32,000.00
205.3	500	SY	Hot Mix Asphaltic Concrete Pavement, Type C (2" Compacted Depth) (COSA Spec)	\$65.00	\$32,500.00	\$40.00	\$20,000.00	\$116.00	\$58,000.00
			Hot Mix Asphaltic Concrete Pavement, Type D						
205.4	500	SY	(1.5" Compacted Depth) (COSA Spec)  Hot Mix Asphaltic Concrete Pavement, Type D (2"	\$50.00	\$25,000.00	\$50.00	\$25,000.00	\$64.00	\$32,000.00
205.4	500	SY	Compacted Depth) (COSA Spec) Asphalt Treated Base (ATB) (10" Compacted	\$65.00	\$32,500.00	\$50.00	\$25,000.00	\$116.00	\$58,000.00
206.1	750	SY	Depth) (COSA Spec) Asphalt Treated Base (ATB) (12" Compacted	\$70.00	\$52,500.00	\$100.00	\$75,000.00	\$174.00	\$130,500.00
206.1	750	SY	Depth) (COSA Spec) Salvaging, Hauling, and Stockpiling Reclaimable	\$80.00	\$60,000.00	\$120.00	\$90,000.00	\$184.00	\$138,000.00
208.1	500	SY	Asphaltic Pavement (1.5" Depth) (COSA Spec) Salvaging, Hauling, and Stockpiling Reclaimable	\$30.00	\$15,000.00	\$40.00	\$20,000.00	\$8.00	\$4,000.00
208.1	500	SY	Asphaltic Pavement (2" Depth) (COSA Spec)	\$30.00	\$15,000.00	\$40.00	\$20,000.00	\$24.00	\$12,000.00
208.1	500	SY	Salvaging, Hauling, and Stockpiling Reclaimable Asphaltic Pavement (3" Depth) (COSA Spec)	\$30.00	\$15,000.00	\$40.00	\$20,000.00	\$27.00	\$13,500.00
247	200	CY	Flexible Base-Type A, Grade I with 2% Cement (TxDOT Spec.)	\$50.00	\$10,000.00	\$50.00	\$10,000.00	\$86.00	\$17,200.00
340	100	CY	HMAC Pavement Type "C" (TxDOT Spec.)	\$120.00	\$12,000.00	\$210.00	\$21,000.00	\$326.00	\$32,600.00
500.1	100	LF	Concrete Curb (COSA Spec)	\$20.00	\$2,000.00	\$30.00	\$3,000.00	\$48.00	\$4,800.00
500.4	100	LF	Concrete Curb and Gutter (COSA Spec)	\$35.00	\$3,500.00	\$50.00	\$5,000.00	\$50.00	\$5,000.00
502.1	100	SY	Concrete Sidewalks – Conventionally Formed (COSA Spec)	\$70.00	\$7,000.00	\$80.00	\$8,000.00	\$100.00	\$10,000.00
503.1	100	SY	Portland Cement Concrete Driveway (COSA Spec)	\$95.00	\$9,500.00	\$90.00	\$9,000.00	\$135.00	\$13,500.00
503.2	100	SY	Portland Cement Concrete Driveway - Commercial (COSA Spec)	\$120.00	\$12,000.00	\$100.00	\$10,000.00	\$147.00	\$14,700.00
503.4	50	SY	Asphaltic Concrete Driveway (COSA Spec)	\$70.00	\$3,500.00	\$50.00	\$2,500.00	\$70.00	\$3,500.00
504.1	50	SY	Concrete Median (COSA Spec)	\$110.00	\$5,500.00	\$80.00	\$4,000.00	\$283.00	\$14,150.00
504.1	50	SY	Concrete Directional Island (COSA Spec)	\$110.00	\$5,500.00	\$80.00	\$4,000.00	\$398.00	\$14,150.00
505.1	50	SY	Concrete Riprap (5" Thick) (COSA Spec)	\$100.00	\$5,000.00	\$100.00	\$5,000.00	\$103.00	\$5,150.00

Prepared by	DYS					~			
Solicitation N	lo.:	CD-B-14-031		רוכ	~	9 B C			
			: CD-C-14-014-MF	ab, I	3222	batin	223	Jing	
			O WATER SYSTEM	3eh8	410 s 78	Ö ö	.esa 782	эрог	969 78724
		P. O. BOX 24	49 O, TEXAS 78298-2449	8	oop exa	ng 8	TX T	er R	78 78
		TABULATION OF BIDS		tion	PM Construction & Rehab, LLC 3355 SE Loop 410 San Antonio, Texas 78222		Pronto Sandblasting & Coating & Oilfield Services Co, Inc 9456 South Presa San Antonio, Tx 78223		E X
PROPOSAL:			ified Rehabilitation Contract - Sewer	truc	55 S	ndbl ld Si 56 S		National Power Rodding 9810 FM 969 Austin, Tx 78724	
				onst 335		Sal	94 an A	atio	Ar
_		Job No. 14-4	803	∑	Sar	onto	S S	Z	
TIME &		10:00 A.M.	4	PI		Pro			
DATE:		June 24, 201	June 24, 2014						
	Estimate	Unit of							
Item No.	Qty	Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total
506.4	<b>50</b>	6)/	Concrete Retaining Walls - Combination Type	¢000.00	¢40,000,00	ć=00.00	ć25 000 00	ć= 4 <b>3</b> .00	¢27.250.00
506.1	50	CY	(COSA Spec)  New Residential Chain Link Wire Fence (4 ft.	\$800.00	\$40,000.00	\$500.00	\$25,000.00	\$547.00	\$27,350.00
507.1	50	LF	High) (COSA Spec)	\$30.00	\$1,500.00	\$15.00	\$750.00	\$28.00	\$1,400.00
307.1	30	-	New Residential Chain Link Wire Fence (6 ft.	750.00	71,300.00	713.00	Ţ750.00	Ş20.00	71,400.00
507.2	50	LF	High) (COSA Spec)	\$30.00	\$1,500.00	\$20.00	\$1,000.00	\$34.00	\$1,700.00
			Temporary Chain Link Wire Fence (6 ft. High)		• •				
507.2	50	LF	(COSA Spec)	\$20.00	\$1,000.00	\$5.00	\$250.00	\$23.00	\$1,150.00
507.4	2	EA	Gates - Pedestrian (COSA Spec)	\$150.00	\$300.00	\$100.00	\$200.00	\$632.00	\$1,264.00
			New Residential Wooden Privacy Fence (6 ft.						
507.6	30	LF	High)	\$30.00	\$900.00	\$90.00	\$2,700.00	\$34.00	\$1,020.00
F00 1	Ε0	1.5	Polocating Wire Fonce (COSA Spec)	¢2F 00	¢1 3E0 00	¢F 00	¢250.00	ć22.00	¢1 150 00
508.1	50	LF	Relocating Wire Fence (COSA Spec)	\$25.00	\$1,250.00	\$5.00	\$250.00	\$23.00	\$1,150.00
509.1	50	LF	Metal Beam Guard Rail (COSA Spec)	\$100.00	\$5,000.00	\$70.00	\$3,500.00	\$97.00	\$4,850.00
303.1	30		Pavement (3" Type D & 12" Type ATB) (COSA	7100.00	\$3,000.00	\$70.00	\$3,300.00	\$37.00	74,030.00
511.3	4,000	SY	Spec)	\$95.00	\$380,000.00	\$80.00	\$320,000.00	\$156.00	\$624,000.00
	·		Pavement (2" Type D & 10" Type ATB) (COSA		•				
511.3	4,000	SY	Spec)	\$80.00	\$320,000.00	\$90.00	\$360,000.00	\$151.00	\$604,000.00
515	50	CY	Topsoil (COSA Spec)	\$30.00	\$1,500.00	\$30.00	\$1,500.00	\$33.00	\$1,650.00
	450		David In California (COCA Cara)	445.00	40.050.00	440.00	44 500 00	400.00	40.000.00
516.1	150	SY	Bermuda Sodding (COSA Spec)	\$15.00	\$2,250.00	\$10.00	\$1,500.00	\$26.00	\$3,900.00
516.2	150	SY	St. Augustine Sodding (COSA Spec)	\$15.00	\$2,250.00	\$10.00	\$1,500.00	\$26.00	\$3,900.00
310.2	130	31	ot. Augustine Souding (COSA Spee)	713.00	\$2,230.00	\$10.00	71,500.00	\$20.00	73,300.00
518.1	10	EA	Shrubs	\$25.00	\$250.00	\$14.00	\$140.00	\$172.00	\$1,720.00
						·	·	·	
518.2	50	SY	Landscaping/Flower Beds	\$30.00	\$1,500.00	\$25.00	\$1,250.00	\$69.00	\$3,450.00
518.3	1	EA	6" Tree	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$1,300.00	\$1,300.00
518.4	1	EA	3" Tree	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$600.00	\$600.00
510 F	10	CV	Native Mulch (Complete in Place)	¢EN NO	¢ENN NO	\$40.00	¢400.00	¢16 00	¢460.00
518.5	10	CY	Hydromulching (Residential or Commercial)	\$50.00	\$500.00	\$40.00	\$400.00	\$46.00	\$460.00
520.1	200	SY	(COSA Spec)	\$25.00	\$5,000.00	\$1.00	\$200.00	\$4.00	\$800.00
			Barricades, Signs and Traffic Handling (1 per work	7 = 3.00	, , , , , , , , , , , , , , , , , , , ,	+ 2.00	+=30.00	,	+ - 20.00
530.1	20	EA	order) (COSA Spec)	\$6,000.00	\$120,000.00	\$20,000.00	\$400,000.00	\$5,000.00	\$100,000.00
535.1	30	LF	4 inch Wide Yellow Line (COSA Spec)	\$10.00	\$300.00	\$4.00	\$120.00	\$6.00	\$180.00
535.2	30	LF	4 Inch Wide White Line (COSA Spec)	\$10.00	\$300.00	\$4.00	\$120.00	\$6.00	\$180.00
525 7	20		241-1-1-16-16-16-16-16-16-16-16-16-16-16-1	¢20.00	¢000.00	ć45.00	Ć450.00	647.00	Ć540.00
535.7	30	LF	24 Inch Wide White Line (COSA Spec)	\$30.00	\$900.00	\$15.00	\$450.00	\$17.00	\$510.00
537.6	10	EA	Pavement Marker (Type I-C) (COSA Spec)	\$50.00	\$500.00	\$20.00	\$200.00	\$17.00	\$170.00
337.0	10	LA	avenient marker (Type 1-6) (603A 3pec)	00.00	\$300.00	920.00	J200.00	71،00	\$170.00
537.8	10	EA	Pavement Marker (Type II-A-A) (COSA Spec)	\$75.00	\$750.00	\$20.00	\$200.00	\$17.00	\$170.00
	-	·	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,,,,,,	, 22120	, ,,,,,,	,	,,	, 1010
550.1	2,000	LF	Trench Excavation Safety Protection	\$10.00	\$20,000.00	\$1.00	\$2,000.00	\$5.00	\$10,000.00
			Storm Water Pollution Prevention Plan (SW3P) (1						
553	20	EA	per work order)	\$500.00	\$10,000.00	\$1,000.00	\$20,000.00	\$2,000.00	\$40,000.00

Prepared by	DYS					•*			
		CD-B-14-031		רוכ	2	8 gui		bo	
			: CD-C-14-014-MF O WATER SYSTEM	nab,	0,822	Coati	a 1223	Iding	4
		P. O. BOX 24		Ref	p 41	8 6	Pres 78	Rod	1969 78724
			O, TEXAS 78298-2449	on &	Loo T,	ting	o, T	wer	Z ×
DDODOCAL		TABULATION		uctic	S SE	dblas I Ser 6 Sol Itoni		National Power Rodding 9810 FM 969 Austin, Tx 78724	
PROPOSAL:		2014 Unspec	ified Rehabilitation Contract - Sewer	nstri	3355 SE Loop 410 Antonio, Texas 78	Pronto Sandblasting & Coating & Oilfield Services Co, Inc 9456 South Presa San Antonio, Tx 78223		iona	98 Aust
		Job No. 14-4	803	PM Construction & Rehab, LLC 3355 SE Loop 410 San Antonio, Texas 78222		) to (5	Sar	Nat	
TIME &		10:00 A.M.		PP	M <sub>Q</sub>				
DATE:		June 24, 201	4						
	Estimate	Unit of			_		_		
Item No.	Qty	Issue	<b>Description</b> Removal and Replacement of Speed Hump (Type	Unit Price	Total	Unit Price	Total	Unit Price	Total
799	2	EA	II) (per each hump)	\$2,000.00	\$4,000.00	\$2,500.00	\$5,000.00	\$1,200.00	\$2,400.00
			Traffic Control Plan (1 per work order, if						
805	20	EA	required)	\$2,500.00	\$50,000.00	\$1,200.00	\$24,000.00	\$1,000.00	\$20,000.00
812	50	LF	Adjust Waterline incl. Tie-Ins (6" Diameter)	\$50.00	\$2,500.00	\$80.00	\$4,000.00	\$141.00	\$7,050.00
812	50	LF	Adjust Waterline incl. Tie-Ins (8" Diameter)	\$50.00	\$2,500.00	\$90.00	\$4,500.00	\$150.00	\$7,500.00
812	50	LF	Adjust Waterline incl. Tie-Ins (12" Diameter)	\$100.00	\$5,000.00	\$95.00	\$4,750.00	\$223.00	\$11,150.00
812	50	LF	Adjust Waterline incl. Tie-Ins (16" Diameter)	\$200.00	\$10,000.00	\$140.00	\$7,000.00	\$260.00	\$13,000.00
812	50	LF	Adjust Waterline incl. Tie-Ins (20" Diameter)	\$205.00	\$10,250.00	\$180.00	\$9,000.00	\$373.00	\$18,650.00
812	50	LF	Adjust Waterline incl. Tie-Ins (24" Diameter)	\$225.00	\$11,250.00	\$190.00	\$9,500.00	\$509.00	\$25,450.00
824	20	LF	Adjust Water Service Line (3/4" or 1" Diameter)	\$40.00	\$800.00	\$25.00	\$500.00	\$72.00	\$1,440.00
824	20	LF	Adjust Water Service Line (1.5" to 2" Diameter)	\$60.00	\$1,200.00	\$40.00	\$800.00	\$98.00	\$1,960.00
824	20	LF	Adjust Water Service Line (3" to 4" Diameter)	\$100.00	\$2,000.00	\$50.00	\$1,000.00	\$112.00	\$2,240.00
828	1	EA	6" Gate Valve	\$1,000.00	\$1,000.00	\$900.00	\$900.00	\$1,000.00	\$1,000.00
828	1	EA	8" Gate Valve	\$1,500.00	\$1,500.00	\$1,600.00	\$1,600.00	\$1,300.00	\$1,300.00
828	1	EA	12" Gate Valve	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$2,450.00	\$2,450.00
828	1	EA	16" Gate Valve	\$7,500.00	\$7,500.00	\$7,000.00	\$7,000.00	\$6,940.00	\$6,940.00
830	1	EA	20" Gate Valve	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.00	\$9,200.00	\$9,200.00
830	1	EA	24" Gate Valve	\$15,000.00	\$15,000.00	\$18,000.00	\$18,000.00	\$16,000.00	\$16,000.00
836	2	TON	Waterline Fittings (All Sizes and Types)	\$6,000.00	\$12,000.00	\$5,000.00	\$10,000.00	\$9,000.00	\$18,000.00
848.1	200	LF	8" PVC Gravity Sanitary Sewer Pipe (0'-6'	\$60.00	\$12,000.00	\$40.00	\$8,000.00	\$99.00	\$19,800.00
848.1	200	LF	8" PVC Gravity Sanitary Sewer Pipe (6'-10')	\$86.00	\$17,200.00	\$45.00	\$9,000.00	\$130.00	\$26,000.00
848.1	100	LF	8" PVC Gravity Sanitary Sewer Pipe (10'-14')	\$113.00	\$11,300.00	\$80.00	\$8,000.00	\$182.00	\$18,200.00
848.1	100	LF	10" PVC Gravity Sanitary Sewer Pipe (0'-6')	\$67.00	\$6,700.00	\$43.00	\$4,300.00	\$97.00	\$9,700.00
848.1	100	LF	10" PVC Gravity Sanitary Sewer Pipe (6'-10')	\$93.00	\$9,300.00	\$69.00	\$6,900.00	\$127.00	\$12,700.00
848.1	100	LF	10" PVC Gravity Sanitary Sewer Pipe (10'-14')	\$119.00	\$11,900.00	\$87.00	\$8,700.00	\$180.00	\$18,000.00
848.1	100	LF	12" PVC Gravity Sanitary Sewer Pipe (0'-6')	\$73.00	\$7,300.00	\$65.00	\$6,500.00	\$101.00	\$10,100.00
848.1	100	LF	12" PVC Gravity Sanitary Sewer Pipe (6'-10')	\$100.00	\$10,000.00	\$75.00	\$7,500.00	\$132.00	\$13,200.00
848.1	100	LF	12" PVC Gravity Sanitary Sewer Pipe (10'-14')	\$126.00	\$12,600.00	\$85.00	\$8,500.00	\$184.00	\$18,400.00

Prepared by	DYS									
Solicitation No.:		CD-B-14-031-MF Contract No.: CD-C-14-014-MF SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS			PM Construction & Rehab, LLC 3355 SE Loop 410 San Antonio, Texas 78222		Pronto Sandblasting & Coating & Oilfield Services Co, Inc 9456 South Presa San Antonio, Tx 78223		National Power Rodding 9810 FM 969 Austin, Tx 78724	
PROPOSAL:			ified Rehabilitation Contract - Sewer	onstruc: 3355 S		Sandbla Ifield Se 9456 Sv n Anton		tional Powe 9810 FM Austin, Tx		
			Job No. 14-4803		San	onto	S S	Na		
TIME & DATE:	TIME & 10		4	۵		Pro				
DATE.		June 24, 201								
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	
848.1	50	LF	15" PVC Gravity Sanitary Sewer Pipe (0'-6')	\$93.00	\$4,650.00	\$70.00	\$3,500.00	\$115.00	\$5,750.00	
848.1	50	LF	15" PVC Gravity Sanitary Sewer Pipe (6'-10')	\$119.00	\$5,950.00	\$74.00	\$3,700.00	\$144.00	\$7,200.00	
848.1	50	LF	15" PVC Gravity Sanitary Sewer Pipe (10'-14')	\$146.00	\$7,300.00	\$100.00	\$5,000.00	\$200.00	\$10,000.00	
848.1	50	LF	18" PVC Gravity Sanitary Sewer Pipe (0'-6')	\$120.00	\$6,000.00	\$75.00	\$3,750.00	\$130.00	\$6,500.00	
848.1	50	LF	18" PVC Gravity Sanitary Sewer Pipe (6'-10')	\$146.00	\$7,300.00	\$85.00	\$4,250.00	\$158.00	\$7,900.00	
848.1	50	LF	18" PVC Gravity Sanitary Sewer Pipe (10'-14')	\$173.00	\$8,650.00	\$120.00	\$6,000.00	\$215.00	\$10,750.00	
848.1	40	LF	21" PVC Gravity Sanitary Sewer Pipe (0'-6')	\$133.00	\$5,320.00	\$80.00	\$3,200.00	\$120.00	\$4,800.00	
848.1	40	LF	21" PVC Gravity Sanitary Sewer Pipe (6'-10')	\$160.00	\$6,400.00	\$90.00	\$3,600.00	\$143.00	\$5,720.00	
848.1	40	LF	21" PVC Gravity Sanitary Sewer Pipe (10'-14')	\$186.00	\$7,440.00	\$130.00	\$5,200.00	\$194.00	\$7,760.00	
848.1	40	LF	24" PVC Gravity Sanitary Sewer Pipe (0'-6')	\$146.00	\$5,840.00	\$100.00	\$4,000.00	\$133.00	\$5,320.00	
848.1	40	LF	24" PVC Gravity Sanitary Sewer Pipe (6'-10')	\$173.00	\$6,920.00	\$120.00	\$4,800.00	\$155.00	\$6,200.00	
848.1	40	LF	24" PVC Gravity Sanitary Sewer Pipe (10'-14')	\$200.00	\$8,000.00	\$150.00	\$6,000.00	\$206.00	\$8,240.00	
848.1	40	LF	27" PVC Gravity Sanitary Sewer Pipe (0'-6')	\$160.00	\$6,400.00	\$110.00	\$4,400.00	\$156.00	\$6,240.00	
848.1	40	LF	27" PVC Gravity Sanitary Sewer Pipe (6'-10')	\$186.00	\$7,440.00	\$125.00	\$5,000.00	\$180.00	\$7,200.00	
848.2	40	LF	27" PVC Gravity Sanitary Sewer Pipe (10'-14')	\$213.00	\$8,520.00	\$170.00	\$6,800.00	\$230.00	\$9,200.00	
848.2	100	LF	8" PVC Pressure Rated (Min 150 psi) Gravity Sanitary Sewer Pipe (ASTM D2241) (0'-6')	\$70.00	\$7,000.00	\$48.00	\$4,800.00	\$93.00	\$9,300.00	
848.2	100	LF	8" PVC Pressure Rated (Min 150 psi) Gravity Sanitary Sewer Pipe (ASTM D2241) (6'-10')	\$90.00	\$9,000.00	\$55.00	\$5,500.00	\$124.00	\$12,400.00	
848.2	100	LF	8" PVC Pressure Rated (Min 150 psi) Gravity Sanitary Sewer Pipe (ASTM D2241) (10'-14')	\$120.00	\$12,000.00	\$90.00	\$9,000.00	\$175.00	\$17,500.00	
848.2	50	LF	10" PVC Pressure Rated (Min 150 psi) Gravity Sanitary Sewer Pipe (ASTM D2241) (0'-6')	\$75.00	\$3,750.00	\$55.00	\$2,750.00	\$96.00	\$4,800.00	
848.2	50	LF	10" PVC Pressure Rated (Min 150 psi) Gravity Sanitary Sewer Pipe (ASTM D2241) (6'-10')	\$100.00	\$5,000.00	\$81.00	\$4,050.00	\$127.00	\$6,350.00	
848.2	50	LF	10" PVC Pressure Rated (Min 150 psi) Gravity Sanitary Sewer Pipe (ASTM D2241) (10'-14')	\$126.00	\$6,300.00	\$99.00	\$4,950.00	\$179.00	\$8,950.00	
848.2	50	LF	12" PVC Pressure Rated (Min 150 psi) Gravity Sanitary Sewer Pipe (ASTM D2241) (0'-6')	\$80.00	\$4,000.00	\$85.00	\$4,250.00	\$101.00	\$5,050.00	
848.2	50	LF	12" PVC Pressure Rated (Min 150 psi) Gravity Sanitary Sewer Pipe (ASTM D2241) (6'-10')	\$106.00	\$5,300.00	\$95.00	\$4,750.00	\$132.00	\$6,600.00	
848.2	50	LF	12" PVC Pressure Rated (Min 150 psi) Gravity Sanitary Sewer Pipe (ASTM D2241) (10'-14')	\$133.00	\$6,650.00	\$102.00	\$5,100.00	\$183.00	\$9,150.00	
848.2	50	LF	14" PVC Pressure Rated (Min 150 psi) Gravity Sanitary Sewer Pipe (AWWA C905) (0'-6')	\$100.00	\$5,000.00	\$150.00	\$7,500.00	\$88.00	\$4,400.00	
848.2	50	LF	14" PVC Pressure Rated (Min 150 psi) Gravity Sanitary Sewer Pipe (AWWA C905) (6'-10')	\$126.00	\$6,300.00	\$160.00	\$8,000.00	\$113.00	\$5,650.00	
848.2	50	LF	14" PVC Pressure Rated (Min 150 psi) Gravity Sanitary Sewer Pipe (AWWA C905) (10'-14')	\$153.00	\$7,650.00	\$180.00	\$9,000.00	\$159.00	\$7,950.00	

Solicitation No.		CD-B-14-031 Contract No.		C		∞ 50				
PROPOSAL:		Contract No.	00 0 4 4 0 4 4 4 5	, LLG		in 8		h0		
PROPOSAL:			. CD-C-14-014-MF	lb, L	222	atin	23	ing		
PROPOSAL:		SAN ANTONI	O WATER SYSTEM	eha	78.	Ö		ippo	24	
PROPOSAL:			49	Z X	op 4 xas	8 8	S P ×	r Rc	78724	
PROPOSAL:		SAN ANTONIO, TEXAS 78298-2449			ion ( Loc ), Te		stin rvice suth		FA T	
PROPOSAL:		TABULATION OF BIDS		uctic SE nio,		blas Ser Sou		National Power Rodding 9810 FM 969 Austin, Tx 78724		
PROPOSAL. 20		2014 Unspecified Rehabilitation Contract - Sewer		PM Construction & Rehab, LLC 3355 SE Loop 410 San Antonio, Texas 78222		Pronto Sandblasting & Coating & Oilfield Services Co, Inc 9456 South Presa San Antonio, Tx 78223		ona	98 Aust	
l		Job No. 14-4803		Con	Con 33 In A		San San	Vati	٩	
TIME &		10:00 A.M.	303	Σ	Š	ont	,	_		
DATE:		June 24, 2014				P				
	Estimate	Unit of								
Item No.	Qty	Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	
040.3	F0		16" PVC Pressure Rated (Min 150 psi) Gravity	Ć112.00	ĆE (E0 00	ć7F 00	ć2.750.00	¢100.00	ĆE 000 00	
848.2	50	LF	Sanitary Sewer Pipe (AWWA C905) (0'-6')  16" PVC Pressure Rated (Min 150 psi) Gravity	\$113.00	\$5,650.00	\$75.00	\$3,750.00	\$100.00	\$5,000.00	
848.2	50	LF	Sanitary Sewer Pipe (AWWA C905) (6'-10')	\$140.00	\$7,000.00	\$85.00	\$4,250.00	\$122.00	\$6,100.00	
040.2	30	LF	16" PVC Pressure Rated (Min 150 psi) Gravity	\$140.00	\$7,000.00	\$65.00	\$4,250.00	\$122.00	\$6,100.00	
848.2	50	LF	Sanitary Sewer Pipe (AWWA C905) (10'-14')	\$166.00	\$8,300.00	\$105.00	\$5,250.00	\$168.00	\$8,400.00	
040.2	30	LI	18" PVC Pressure Rated (Min 150 psi) Gravity	\$100.00	\$8,300.00	\$105.00	\$3,230.00	\$108.00	\$8,400.00	
848.2	50	LF	Sanitary Sewer Pipe (AWWA C905) (0'-6')	\$126.00	\$6,300.00	\$180.00	\$9,000.00	\$130.00	\$6,500.00	
040.2	30		18" PVC Pressure Rated (Min 150 psi) Gravity	Ģ120.00	<b>40,300.00</b>	ψ100.00	<b>73,000.00</b>	Ψ130.00	70,300.00	
848.2	50	LF	Sanitary Sewer Pipe (AWWA C905) (6'-10')	\$153.00	\$7,650.00	\$200.00	\$10,000.00	\$173.00	\$8,650.00	
0.0.2			18" PVC Pressure Rated (Min 150 psi) Gravity	Ψ155.00	ψ7,030.00	Ψ200.00	<b></b>	ψ175.00	ψογοσοίου	
848.2	50	LF	Sanitary Sewer Pipe (AWWA C905) (10'-14')	\$180.00	\$9,000.00	\$250.00	\$12,500.00	\$179.00	\$8,950.00	
0.0.2	50		30" Fiberglass Reinforced Gravity Sanitary Sewer	Ψ100.00	ψ3,000.00	Ψ230.00	ψ1 <u>2</u> ,300.00	ψ1/3.00	ψο,330.00	
848.3	40	LF	Pipe (ASTM D3262) (0'-6')	\$270.00	\$10,800.00	\$225.00	\$9,000.00	\$223.00	\$8,920.00	
			30" Fiberglass Reinforced Gravity Sanitary Sewer	7=10100	7-0,000.00	7=====	40,000.00	7=====	+ = / = = = : = =	
848.3	40	LF	Pipe (ASTM D3262) (6'-10')	\$305.00	\$12,200.00	\$245.00	\$9,800.00	\$251.00	\$10,040.00	
			30" Fiberglass Reinforced Gravity Sanitary Sewer							
848.3	40	LF	Pipe (ASTM D3262) (10'-14')	\$405.00	\$16,200.00	\$295.00	\$11,800.00	\$274.00	\$10,960.00	
			33" Fiberglass Reinforced Gravity Sanitary Sewer							
848.3	40	LF	Pipe (ASTM D3262) (0'-6')	\$280.00	\$11,200.00	\$230.00	\$9,200.00	\$232.00	\$9,280.00	
			33" Fiberglass Reinforced Gravity Sanitary Sewer							
848.3	40	LF	Pipe (ASTM D3262) (6'-10')	\$315.00	\$12,600.00	\$240.00	\$9,600.00	\$260.00	\$10,400.00	
			33" Fiberglass Reinforced Gravity Sanitary Sewer							
848.3	40	LF	Pipe (ASTM D3262) (10'-14')	\$410.00	\$16,400.00	\$250.00	\$10,000.00	\$283.00	\$11,320.00	
			36" Fiberglass Reinforced Gravity Sanitary Sewer							
848.3	40	LF	Pipe (ASTM D3262) (0'-6')	\$355.00	\$14,200.00	\$280.00	\$11,200.00	\$251.00	\$10,040.00	
			36" Fiberglass Reinforced Gravity Sanitary Sewer							
848.3	40	LF	Pipe (ASTM D3262) (6'-10')	\$390.00	\$15,600.00	\$300.00	\$12,000.00	\$280.00	\$11,200.00	
			36" Fiberglass Reinforced Gravity Sanitary Sewer							
848.3	40	LF	Pipe (ASTM D3262) (10'-14')	\$465.00	\$18,600.00	\$360.00	\$14,400.00	\$302.00	\$12,080.00	
	_		Structure (0'-6') - to include rehab of junction		4		4	4	4	
850.1	1	EA	boxes	\$8,000.00	\$8,000.00	\$9,000.00	\$9,000.00	\$12,700.00	\$12,700.00	
050.4	_	\ <i>/</i> F	Extra Donth Tune #D# Street # (1.5	ć1 000 00	ć= 000 00	ć1 000 00	¢= 000 00	ć1 300 00	¢c 000 00	
850.1	5	VF	Extra Depth, Type "B" Structure (>6' Depth)	\$1,000.00	\$5,000.00	\$1,000.00	\$5,000.00	\$1,200.00	\$6,000.00	
0E0 1	1	ΕΛ	Structure (0'-6') - to include rehab of junction	\$12,000,00	\$12,000,00	¢14 000 00	\$14,000,00	¢21 000 00	\$31 000 00	
850.1	1	EA	boxes	\$12,000.00	\$12,000.00	\$14,000.00	\$14,000.00	\$21,800.00	\$21,800.00	
850.1	5	EA	Extra Depth, Type "C" Structure (>6' Depth)	\$1,000.00	\$5,000.00	\$1,800.00	\$9,000.00	\$1,800.00	\$9,000.00	
050.1	J	LA	Extra Depth, Type C Structure (70 Depth)	0.000,000	00.000,65	00.000,10	00.000,65	00.000 ب	\$5,000.00	
850.2	10	EA	Sanitary Sewer Structure Rehabilitation	\$4,500.00	\$45,000.00	\$5,000.00	\$50,000.00	\$450.00	\$4,500.00	
550.2	10	LA	Same y Server Sa detare nerradilitation	γ-1,500.00	Ç <del>1</del> 5,000.00	73,000.00	Ç30,000.00	7 <del>-</del> 20.00	7-,500.00	
851	25	EA	Adjusting Existing Manholes	\$1,200.00	\$30,000.00	\$1,000.00	\$25,000.00	\$4,300.00	\$107,500.00	
552			.,	γ±,=00.00	<del>+30,000.00</del>	φ±,000.00	Ç_5,000.00	Ç .,500.00	Ç20,,300.00	
852.1	20	EA	Sanitary Sewer Manhole, 4 ft. Diameter (0'-6')	\$6,500.00	\$130,000.00	\$7,200.00	\$144,000.00	\$7,700.00	\$154,000.00	
				+0,000.00	<b>+</b> 200,000.00	<b>+1,2000</b>	7 - 1 1,000 100	41,110000	7 = 0 1,000100	
852.1	5	EA	Sanitary Sewer Manhole, 5 ft. Diameter (0'-6')	\$8,000.00	\$40,000.00	\$8,200.00	\$41,000.00	\$10,400.00	\$52,000.00	
852.1	10	EA	Sanitary Sewer Manhole, 6 ft. Diameter (0'-6')	\$10,000.00	\$100,000.00	\$9,500.00	\$95,000.00	\$12,300.00	\$123,000.00	
			Sanitary Sewer Drop Manhole, 4 ft. Diameter (0'-							
852.2	5	EA	6')	\$8,000.00	\$40,000.00	\$8,000.00	\$40,000.00	\$8,800.00	\$44,000.00	
			Sanitary Sewer Drop Manhole, 5 ft. Diameter (0'-							
852.2	5	EA	6')	\$9,000.00	\$45,000.00	\$9,000.00	\$45,000.00	\$11,000.00	\$55,000.00	
			Sanitary Sewer Drop Manhole, 6 ft. Diameter (0'-							
852.2	5	EA	6')	\$11,000.00	\$55,000.00	\$10,000.00	\$50,000.00	\$12,600.00	\$63,000.00	

Prepared by	DYS					ø			
Solicitation No.:		P. O. BOX 24	: CD-C-14-014-MF IO WATER SYSTEM 49 O, TEXAS 78298-2449	PM Construction & Rehab, LLC 3355 SE Loop 410 San Antonio, Texas 78222		Pronto Sandblasting & Coating ' Oilfield Services Co, Inc 9456 South Presa San Antonio, Tx 78223		National Power Rodding 9810 FM 969 Austin, Tx 78724	
PROPOSAL:			ified Rehabilitation Contract - Sewer	onstruct	3355 SI Antoni	Sandbla	9456 Si	tional P	9810 FM Austin, Tx
O		Job No. 14-4	803	ე ∑	San	onto	Sa	Na.	
TIME & DATE:		10:00 A.M. June 24, 201	4	٥		Prc			
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total
852.3	40	VF	Extra Depth Manholes, 4 ft. Diameter (>6')	\$400.00	\$16,000.00	\$400.00	\$16,000.00	\$900.00	\$36,000.00
852.3	40	VF	Extra Depth Manholes, 5 ft. Diameter (>6')	\$500.00	\$20,000.00	\$500.00	\$20,000.00	\$1,250.00	\$50,000.00
852.3	40	VF	Extra Depth Manholes, 6 ft. Diameter (>6')	\$600.00	\$24,000.00	\$1,000.00	\$40,000.00	\$1,500.00	\$60,000.00
853	5	EA	Sanitary Sewer Manholes, Glass-fiber reinforced polyester (FRP)	\$8,250.00	\$41,250.00	\$10,000.00	\$50,000.00	\$7,100.00	\$35,500.00
854.1	300	LF	Sanitary Sewer Laterals	\$55.00	\$16,500.00	\$50.00	\$15,000.00	\$97.00	\$29,100.00
854.2	100	EA	Two-Way Sanitary Sewer Clean-out	\$550.00	\$55,000.00	\$450.00	\$45,000.00	\$650.00	\$65,000.00
854.3	1	EA	Licensed Plumber and CoSA Plumbing Permit	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00	\$3,600.00	\$3,600.00
855.1	10	EA	Reconstruction of Existing Manhole	\$2,500.00	\$25,000.00	\$5,200.00	\$52,000.00	\$8,300.00	\$83,000.00
856.1	100	LF	Jacking, Boring, or Tunneling 24"	\$225.00	\$22,500.00	\$220.00	\$22,000.00	\$483.00	\$48,300.00
856.1	100	LF	Jacking, Boring, or Tunneling 30"	\$260.00	\$26,000.00	\$280.00	\$28,000.00	\$518.00	\$51,800.00
856.1	100	LF	Jacking, Boring, or Tunneling 36"	\$395.00	\$39,500.00	\$340.00	\$34,000.00	\$618.00	\$61,800.00
856.2	100	LF	8"-10" Carrier Pipe for Jacking, Boring, Tunneling	\$30.00	\$3,000.00	\$45.00	\$4,500.00	\$91.00	\$9,100.00
856.2	100	LF	12" Carrier Pipe for Jacking, Boring, Tunneling	\$35.00	\$3,500.00	\$65.00	\$6,500.00	\$86.00	\$8,600.00
856.2	100	LF	15" Carrier Pipe for Jacking, Boring, Tunneling	\$40.00	\$4,000.00	\$70.00	\$7,000.00	\$133.00	\$13,300.00
856.2	100	LF	18" Carrier Pipe for Jacking, Boring, Tunneling	\$50.00	\$5,000.00	\$90.00	\$9,000.00	\$170.00	\$17,000.00
856.2	100	LF	21" Carrier Pipe for Jacking, Boring, Tunneling	\$75.00	\$7,500.00	\$100.00	\$10,000.00	\$176.00	\$17,600.00
856.2	100	LF	24" Carrier Pipe for Jacking, Boring, Tunneling	\$100.00	\$10,000.00	\$140.00	\$14,000.00	\$202.00	\$20,200.00
856.3	100	LF	Casing Liner 24"	\$80.00	\$8,000.00	\$80.00	\$8,000.00	\$93.00	\$9,300.00
856.3	100	LF	Casing Liner 30"	\$100.00	\$10,000.00	\$120.00	\$12,000.00	\$120.00	\$12,000.00
856.3	100	LF	Casing Liner 36" Concrete Encasement, Cradles, Saddles and	\$145.00	\$14,500.00	\$160.00	\$16,000.00	\$148.00	\$14,800.00
858	50	CY	Collars	\$125.00	\$6,250.00	\$140.00	\$7,000.00	\$153.00	\$7,650.00
860	100	VF	Vertical Stacks	\$65.00	\$6,500.00	\$30.00	\$3,000.00	\$27.00	\$2,700.00
862.1	200	LF	Abandonment of Sanitary Sewer Main	\$35.00	\$7,000.00	\$20.00	\$4,000.00	\$7.00	\$1,400.00
862.2	5	EA	Abandonment of Sanitary Sewer Manholes	\$1,000.00	\$5,000.00	\$700.00	\$3,500.00	\$1,500.00	\$7,500.00
864	1	EA	Bypass Pumping (8" to 12" diameter) including up to 1,000 linear feet of piping per Each Work Order  Bypass Pumping (14" to 21" diameter) including	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$11,000.00	\$11,000.00
864	1	EA	up to 1,000 linear feet of piping per Each Work Order	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00

Prepared by	DYS								
Solicitation I		CD-B-14-031		TIC	72	ing &		ad	
			: CD-C-14-014-MF IO WATER SYSTEM	hab,	10	Coat	sa 8223	ddin	4
		P. O. BOX 24		& Re	op 4 exas	8 8 7	T Y T	er Ro	9810 FM 969 ustin, Tx 7872
		TABULATION	IO, TEXAS 78298-2449  N OF BIDS	tion	E Lo io, Te	astir	nio, .	owe	, TX
PROPOSAL:			cified Rehabilitation Contract - Sewer	PM Construction & Rehab, LLC 3355 SE Loop 410 San Antonio, Texas 78222		Pronto Sandblasting & Coating & Oilfield Services Co, Inc 9456 South Presa San Antonio, Tx 78223		National Power Rodding 9810 FM 969 Austin, Tx 78724	
TIME &		Job No. 14-4 10:00 A.M.	803	San		onto () Oili		Nai	
DATE:		June 24, 201	4	۵.		Pr			
	Estimate	Unit of							
Item No.	Qty	Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total
			Bypass Pumping (24" diameter) including up to						
864.	1	EA	1,000 linear feet of piping per Each Work Order	\$20,000.00	\$20,000.00	\$35,000.00	\$35,000.00	\$19,000.00	\$19,000.00
			Bypass Pumping (27" diameter) including up to						
864.	1	EA	1,000 linear feet of piping per Each Work Order	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00	\$30,000.00	\$30,000.00
864.	1	EA	up to 1,000 linear feet of piping per Each Work Order	\$50,000.00	\$50,000.00	\$65,000.00	\$65,000.00	\$40,000.00	\$40,000.00
55.1			0.46	<i>φοσμοσοίου</i>	<b></b>	φοσγουσίου	<del>\$00,000.00</del>	ψισμοσίου	ψ 10,000.00
064	4	F.4	Bypass Pumping (36" diameter) including up to	ć7F 000 00	ć7F 000 00	¢50,000,00	¢50,000,00	¢60,000,00	¢50,000,00
864.	1	EA	1,000 linear feet of piping per Each Work Order Bypass Pumping (8" to 12" diameter) Piping per	\$75,000.00	\$75,000.00	\$50,000.00	\$50,000.00	\$60,000.00	\$60,000.00
864.	500	LF	Linear Foot Over 1000 LF	\$10.00	\$5,000.00	\$20.00	\$10,000.00	\$35.00	\$17,500.00
864.	500	LF	Bypass Pumping (14" to 21" diameter) Piping per Linear Foot Over 1000 LF	\$10.00	\$5,000.00	\$25.00	\$12,500.00	\$35.00	\$17,500.00
864.	500	LF	Bypass Pumping (24" diameter) Piping per Linear Foot Over 1000 LF	\$10.00	\$5,000.00	\$30.00	\$15,000.00	\$40.00	\$20,000.00
064	500	l E	Bypass Pumping (27" diameter) Piping per Linear	¢15.00	¢7.500.00	Ć40.00	¢20,000,00	¢45.00	¢33.500.00
864.	500	LF	Foot Over 1000 LF  Bypass Pumping (27" diameter) Piping per Linear	\$15.00	\$7,500.00	\$40.00	\$20,000.00	\$45.00	\$22,500.00
864.	400	LF	Foot Over 1000 LF	\$20.00	\$8,000.00	\$50.00	\$20,000.00	\$45.00	\$18,000.00
864.	300	LF	Bypass Pumping (36" diameter) Piping per Linear Foot Over 1000 LF	\$20.00	\$6,000.00	\$60.00	\$18,000.00	\$55.00	\$16,500.00
866	1,000	LF	Sewer Main Television Inspection (8" through 15" Diameter)	\$7.50	\$7,500.00	\$8.00	\$8,000.00	\$4.00	\$4,000.00
			Sewer Main Television Inspection (18" through						
866	1,000	LF	24" Diameter) Sewer Main Television Inspection (27" through	\$9.00	\$9,000.00	\$9.00	\$9,000.00	\$4.00	\$4,000.00
866	1,000	LF	36" Diameter)	\$15.00	\$15,000.00	\$10.00	\$10,000.00	\$4.00	\$4,000.00
868.1	1,500	LF	Sewer Main Cleaning (8" through 15" Diameter)	\$3.00	\$4,500.00	\$7.00	\$10,500.00	\$12.00	\$18,000.00
868.1	1,500	LF	Sewer Main Cleaning (18" through 24" Diameter)	\$4.00	\$6,000.00	\$8.00	\$12,000.00	\$20.00	\$30,000.00
868.1	1,000	LF	Sewer Main Cleaning (27" through 36" Diameter)	\$9.00	\$9,000.00	\$15.00	\$15,000.00	\$33.00	\$33,000.00
900.1	1,500	LF	Pipe Bursting 8" Sanitary Sewer Pipe, all depths	\$55.00	\$82,500.00	\$70.00	\$105,000.00	\$79.00	\$118,500.00
900.1	1,500	LF	Pipe Bursting 10" Sanitary Sewer Pipe, all depths	\$65.00	\$97,500.00	\$80.00	\$120,000.00	\$92.00	\$138,000.00
900.1	1,000	LF	Pipe Bursting 12" Sanitary Sewer Pipe, all depths	\$67.00	\$67,000.00	\$90.00	\$90,000.00	\$116.00	\$116,000.00
900.1	600	LF	Pipe Bursting 15" Sanitary Sewer Pipe, all depths	\$75.00	\$45,000.00	\$100.00	\$60,000.00	\$161.00	\$96,600.00
900.1	600	LF	Pipe Bursting 18" Sanitary Sewer Pipe, all depths	\$85.00	\$51,000.00	\$120.00	\$72,000.00	\$212.00	\$127,200.00
900.1	100	LF	Pipe Bursting 21" Sanitary Sewer Pipe, all depths	\$115.00	\$11,500.00	\$140.00	\$14,000.00	\$253.00	\$25,300.00
900.1	100	LF	Pipe Bursting 24" Sanitary Sewer Pipe, all depths	\$155.00	\$15,500.00	\$210.00	\$21,000.00	\$304.00	\$30,400.00
900.1	100	LF	Pipe Bursting 27" Sanitary Sewer Pipe, all depths	\$175.00	\$17,500.00	\$240.00	\$24,000.00	\$316.00	\$31,600.00
900.1	80	LF	Pipe Bursting 30" Sanitary Sewer Pipe, all depths	\$175.00	\$17,500.00	\$340.00	\$27,200.00	\$316.00	\$27,120.00
900.1	80	LF	Pipe Bursting 33" Sanitary Sewer Pipe, all depths	\$355.00	\$28,400.00	\$430.00	\$34,400.00	\$373.00	\$29,840.00

Prepared by <b>DYS</b>				ø					
Solicitation I	No.:	CD-B-14-031	-MF	PM Construction & Rehab, LLC	21	8 gc			
			: CD-C-14-014-MF	ab, I	3222	batin	223	ding	
			IO WATER SYSTEM	Sehä	410 s 78	Ö ö	.esa 782	opoc	724
		P. O. BOX 24	49 O, TEXAS 78298-2449	8	3355 SE Loop 410 San Antonio, Texas 78222	ng 8	F Y	er R	78 78
		TABULATION OF BIDS		tion	io, 1	asti	sout nio,	National Power Rodding 9810 FM 969 Austin, Tx 78724	
PROPOSAL:		2014 Unspecified Rehabilitation Contract - Sewer		rruc 55 S toni		Pronto Sandblasting & Coating & Oilfield Services Co, Inc 9456 South Presa San Antonio, Tx 78223		al F	981(
				onst 33.		Sar	94.	tior	An
	Job No. 14-4		803	ŭ	San	nto	Sa	Na	
TIME &		10:00 A.M.		P		Pro			
DATE:		June 24, 201	4 						
	Estimate	Unit of							
Item No.	Qty	Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total
			Upsizing of Main by Pipe Bursting (Greater than						
900.5	500	LF	One Size), all sizes, all depths	\$10.00	\$5,000.00	\$100.00	\$50,000.00	\$46.00	\$23,000.00
910	1,000	VF	Manhole Rehabilitation	\$375.00	\$375,000.00	\$500.00	\$500,000.00	\$450.00	\$450,000.00
910	1,000	VI	Point repairs for 8" or 10" Diameter, (0'-10'	\$373.00	\$373,000.00	\$300.00	\$300,000.00	3430.00	\$430,000.00
1103.1	20	EA	depth) including up to 10 LF of piping	\$2,500.00	\$50,000.00	\$2,500.00	\$50,000.00	\$6,100.00	\$122,000.00
			Point repairs for 8" or 10" Diameter, (10'-15'	, ,	, ,	, ,	, ,	, , , , , , , , , , , , , , , , , , , ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
1103.1	10	EA	depth) including up to 10 LF of piping	\$3,000.00	\$30,000.00	\$2,500.00	\$25,000.00	\$8,000.00	\$80,000.00
			Point repairs for 8" or 10" Diameter, (>15' depth)						
1103.1	50	EA	including up to 10 LF of piping	\$3,500.00	\$175,000.00	\$3,000.00	\$150,000.00	\$12,700.00	\$635,000.00
			Point repairs for 12" or 15" Diameter, (0'-10'						
1103.1	10	EA	depth) including up to 10 LF of piping	\$2,800.00	\$28,000.00	\$2,500.00	\$25,000.00	\$5,500.00	\$55,000.00
4402.4	_		Point repairs for 12" or 15" Diameter, (10'-15'	¢2 000 00	¢45 000 00	¢2 000 00	ć45 000 00	¢0.000.00	ć 40 000 00
1103.1	5	EA	depth) including up to 10 LF of piping Point repairs for 12" or 15" Diameter, (>15'	\$3,000.00	\$15,000.00	\$3,000.00	\$15,000.00	\$8,000.00	\$40,000.00
1103.1	2	EA	depth) including up to 10 LF of piping	\$4,000.00	\$8,000.00	\$3,000.00	\$6,000.00	\$14,500.00	\$29,000.00
1103.1		LA	Point repairs for 18" or 21" Diameter, (0'-10'	\$4,000.00	\$8,000.00	\$3,000.00	\$0,000.00	\$14,300.00	\$29,000.00
1103.1	10	EA	depth) including up to 10 LF of pipi	\$4,000.00	\$40,000.00	\$4,000.00	\$40,000.00	\$8,500.00	\$85,000.00
			Point repairs for 18" or 21" Diameter, (10'-15'	<del>+ 1/000100</del>	¥ 10,000100	<b>+</b> 1,000.00	Ţ 10/000100	40,000.00	+00,000.00
1103.1	5	EA	depth) including up to 10 LF of piping	\$6,000.00	\$30,000.00	\$6,500.00	\$32,500.00	\$10,100.00	\$50,500.00
			Point repairs for 18" or 21" Diameter, (>15'						
1103.1	2	EA	depth) including up to 10 LF of piping	\$7,500.00	\$15,000.00	\$8,000.00	\$16,000.00	\$14,200.00	\$28,400.00
			Point repairs for 24" or 27" Diameter, (0'-10'						
1103.1	5	EA	depth) including up to 10 LF of piping	\$5,000.00	\$25,000.00	\$5,500.00	\$27,500.00	\$9,000.00	\$45,000.00
1103.1	5	EA	Point repairs for 24" or 27" Diameter, (10'-15' depth) including up to 10 LF of piping	\$7,500.00	¢27 E00 00	¢6 000 00	\$30,000.00	\$10,500.00	¢=2 =00 00
1105.1	3	EA	Point repairs for 24" or 27" Diameter, (>15'	\$7,500.00	\$37,500.00	\$6,000.00	\$50,000.00	\$10,500.00	\$52,500.00
1103.1	2	EA	depth) including up to 10 LF of piping	\$8,200.00	\$16,400.00	\$6,000.00	\$12.000.00	\$13,500.00	\$27,000.00
			Point repairs for 30" or 33" Diameter, (0'-10'	1 - 7	, ,, ,,	, -,	, ,	, -,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
1103.1	2	EA	depth) including up to 10 LF of piping	\$8,000.00	\$16,000.00	\$5,500.00	\$11,000.00	\$10,000.00	\$20,000.00
			Point repairs for 30" or 33" Diameter, (10'-15'						
1103.1	2	EA	depth) including up to 10 LF of piping	\$8,400.00	\$16,800.00	\$7,000.00	\$14,000.00	\$13,000.00	\$26,000.00
			Point repairs for 30" or 33" Diameter, (>15'						
1103.1	1	EA	depth) including up to 10 LF of piping	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.00	\$16,000.00	\$16,000.00
1102.1	2	ГΛ	Point repairs for 36" Diameter, (0'-10' depth) including up to 10 LF of piping	¢11 F00 00	¢22 000 00	¢F F00 00	¢11 000 00	¢10 000 00	¢20,000,00
1103.1	2	EA	Point repairs for 36" Diameter, (10'-15' depth)	\$11,500.00	\$23,000.00	\$5,500.00	\$11,000.00	\$10,000.00	\$20,000.00
1103.1	2	EA	including up to 10 LF of piping	\$15,000.00	\$30,000.00	\$8,000.00	\$16,000.00	\$13,000.00	\$26,000.00
1100.1			Point repairs for 36" Diameter, (>15' depth)	7 20,000.00	<del>+30,000.00</del>	Ç5,000.00	Ç10,000.00	710,000.00	Ç_0,000.00
1103.2	1	EA	including up to 10 LF of piping	\$17,000.00	\$17,000.00	\$10,000.00	\$10,000.00	\$16,000.00	\$16,000.00
			Extra length point repair, 8" or 10" Diameter, all						
1103.2	100	LF	depths	\$100.00	\$10,000.00	\$50.00	\$5,000.00	\$103.00	\$10,300.00
			Extra length point repair, 12" or 15" Diameter, all						
1103.2	100	LF	depths	\$100.00	\$10,000.00	\$70.00	\$7,000.00	\$117.00	\$11,700.00
4.00 -	405		Extra length point repair, 18" or 21" Diameter, all		A	A	A	A. a.c	440.055.55
1103.2	100	LF	depths	\$150.00	\$15,000.00	\$140.00	\$14,000.00	\$120.00	\$12,000.00
1103.2	100	LF	Extra length point repair, 24" or 27" Diameter, all depths	\$200.00	\$20,000.00	¢100.00	\$19 000 00	\$170.00	\$17,000,00
1103.2	100	LF	Extra length point repair, 30" or 33" Diameter, all		\$20,000.00	\$180.00	\$18,000.00	\$170.00	\$17,000.00
1103.2	100	LF	depths	\$200.00	\$20,000.00	\$250.00	\$25,000.00	\$268.00	\$26,800.00
		<del>-</del>	Extra length point repair, 36" Diameter, all	7=00.00	+ 20,000.00	7=00.00	+ 20,000.00	7=00.00	+20,000.00
1103.3	100	LF	depths	\$250.00	\$25,000.00	\$300.00	\$30,000.00	\$304.00	\$30,400.00
			Obstruction Removal by Excavation, 8" or 10"						
1103.3	1	EA	Diameter, all depths	\$4,500.00	\$4,500.00	\$2,500.00	\$2,500.00	\$3,800.00	\$3,800.00

Solicitation N	10.:	CD-B-14-031 Contract No.	-IVIF	Ų					
		contract No.	CD C 44 044 N45	n' cz		c c		<b>∞</b>	
		SAN ANTONIO WATER SYSTEM			322	bati	223	Jing	
				kehi	410 s 78	5 6	-0, esa 782	opo	9724
		P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449		op,		to Sandblasting & Coatii Oilfield Services Co, Inc 9456 South Presa San Antonio, Tx 78223		er R 196 787	
			*	ion E Lo 5, T		ıstir	outh outh io, '	National Power Rodding 9810 FM 969 Austin, Tx 78724	
PROPOSAL:		TABULATION		nstruction & Reha 3355 SE Loop 410 Antonio, Texas 78;		abla	5 Sc ton	Pc	310 tin,
PROPOSAL.		2014 Olisped	cified Rehabilitation Contract - Sewer	ıstr	1355 Anto	Pronto Sandblasting & Coating &	Ominion services Co, inc 9456 South Presa San Antonio, Tx 78223	ons	36 Yus
		Job No. 14-4	803	PM Construction & Rehab, LLC 3355 SE Loop 410 San Antonio, Texas 78222		to S	San	Vati	•
TIME &		10:00 A.M.	803	Mc	ιχ	roni	,	_	
DATE:		June 24, 201	4			Ы			
	Estimate	Unit of			_		_		_
Item No.	Qty	Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total
	_		Obstruction Removal by Excavation, 12" or 15"		4		4	4	4
1103.3	1	EA	Diameter, all depths	\$4,500.00	\$4,500.00	\$3,000.00	\$3,000.00	\$4,100.00	\$4,100.00
	_		Obstruction Removal by Excavation, 18" or 21"		4		44	4	4
1103.3	1	EA	Diameter, all depths	\$4,500.00	\$4,500.00	\$3,500.00	\$3,500.00	\$7,000.00	\$7,000.00
4400.0			Obstruction Removal by Excavation, 24" or 27"	44 =00 00	44 700 00	44.000.00	44.000.00	4= 000 00	4= 000 00
1103.3	1	EA	Diameter, all depths	\$4,700.00	\$4,700.00	\$4,000.00	\$4,000.00	\$7,200.00	\$7,200.00
4400.4			Obstruction Removal by Excavation, 30" or 33"	44 =00 00	44 700 00	44.500.00	44.500.00	44= 000 00	445 000 00
1103.4	1	EA	Diameter, all depths	\$4,700.00	\$4,700.00	\$4,500.00	\$4,500.00	\$15,000.00	\$15,000.00
1102.4	4	F 4	Obstruction Removal by Excavation, 36"	\$5,900.00	ćF 000 00	ćE 000 00	ĆE 000 00	\$16,000.00	Ć1.C 000 00
1103.4	1	EA	Diameter, all depths  Obstruction Removal by Remote Device, 8" or	\$5,900.00	\$5,900.00	\$5,000.00	\$5,000.00	\$16,000.00	\$16,000.00
1102.4	1	ΕΛ	10" Diameter, all depths	\$600.00	\$600.00	\$1,000.00	\$1,000.00	\$300.00	\$300.00
1103.4	1	EA	Obstruction Removal by Remote Device, 12" or	\$600.00	\$600.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00
1103.4	1	EA	15" Diameter, all depths	\$600.00	\$600.00	\$1,200.00	\$1,200.00	\$300.00	\$300.00
1105.4		LA	Obstruction Removal by Remote Device, 18" or	3000.00	Ç000.00	\$1,200.00	\$1,200.00	\$300.00	7300.00
1103.4	1	EA	21" Diameter, all depths	\$600.00	\$600.00	\$1,500.00	\$1,500.00	\$300.00	\$300.00
1103.1		L/\	Obstruction Removal by Remote Device, 24" or	φοσο.σσ	Ç000.00	ψ1,300.00	ψ1,300.00	φ300.00	<b>\$300.00</b>
1103.4	1	EA	27" Diameter, all depths	\$700.00	\$700.00	\$1,800.00	\$1,800.00	\$300.00	\$300.00
			Obstruction Removal by Remote Device, 30" or	,	,	, ,	, ,	,	,
1103.4	1	EA	33" Diameter, all depths	\$700.00	\$700.00	\$2,000.00	\$2,000.00	\$300.00	\$300.00
			Obstruction Removal by Remote Device, 36"		·				
1103.4	1	EA	Diameter, all depths	\$700.00	\$700.00	\$2,400.00	\$2,400.00	\$300.00	\$300.00
			Service Reconnection, all depths (w/ remote						
1109	10	EA	control cut device)	\$300.00	\$3,000.00	\$700.00	\$7,000.00	\$800.00	\$8,000.00
			Service Reconnection, (w/ open cut excavation, 0'-						
1109	200	EA	10' depth, including up to 10 LF of lateral)	\$900.00	\$180,000.00	\$800.00	\$160,000.00	\$1,500.00	\$300,000.00
			Service Reconnection, (w/ open cut excavation,						
1109	100	EA	10'-15' depth, including up to 10 LF of lateral)	\$1,000.00	\$100,000.00	\$900.00	\$90,000.00	\$1,700.00	\$170,000.00
			Service Reconnection, (w/ open cut excavation,						
1109	25	EA	>15' depth, including up to 10 LF of lateral)	\$1,500.00	\$37,500.00	\$1,500.00	\$37,500.00	\$1,900.00	\$47,500.00
1109	5	EA	Service Reconnection, (Person Entry)	\$2,100.00	\$10,500.00	\$1,000.00	\$5,000.00	\$2,800.00	\$14,000.00
								l .	
4438	500	CY	Flowable Fill	\$150.00	\$75,000.00	\$120.00	\$60,000.00	\$134.00	\$67,000.00
			TOTAL BID AMOUNT		\$4,995,820.00		\$5,487,380.00		\$7,780,124.00
CALENDAR D	AYS TO COM	1PLETE			365		365		365
					[1]		[2]		[3]